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[3] [A]
ART-I (PART -I)
919 9% 9 fARNIRS (CHILD DEVELOPMENT AND PEDAGOGY)

3 : R 797 % o7 &7 & [ qag ST [dwey g

Direction : Answer the following questions by selecting the most appropriate option.

1. ARBROT & ‘STasehel AR R 1. Who propounded the 'Need
&1 gfodres feee feam ? Hierarchy Theory' of Motivation ?
[1] BT [1] Hull
2] B [2] Maslow
[3] wefheas [3] Atkinson
(4] 9T [4] Themson

2. frfofad § @ -9 AT emewe 2. Which of the following is not a
% mad fafy 7&f B ° projective technique of personality

assessment ?

[1] q=-TrETd [1] Word-association
[2] Ermagi%? [2] Sentence completion
[3] Ui Ifey [3] Expressive movement
[4] GTTAfT [4] Sociometry

3. Ffreloifed & @ P9-E © 9@ 3. Which of the following is not an
ARORE 7&F B 7 extrinsic motive ?
[1] 2fr & fiq e grreqet B [1] Competing in sport for trophy
2] 37 & fw S B [2] Do?ng job f.or salary
3] aTeTEaR %ﬁ ST FE [3] Is)a(t)ilsnficg(c))rcllal service for self
4] T GO W TH g arr [4] Buy one get one free

4. JERRe STwEry qheer ek & . 4. Thematic Apperception Test is used
A &g IR H AW S to measure the ........... of students.
[1] g [1] Intelligence
[2] i [2] Aptitude
[3] ARG [3] Attitude
[4] T [4] Personality

Level-2/811 P.T.O.



[A]
5. ffefad & & SF-91 99 q9EeH
» gl § 9 78 B 7
[1] 98 STEgT I~ Il Bl
[2] 7 uRRgfy @ @6 & omgEw
fe & TWd & S8 » g
afa & B
[3] T8 aEReT & Rafodi § aiwe
URad @ @I T 3T 2

[4] G9ENH & A9E H Ffed a9

iR Riar @ B’y & R
6. O™ & WMo Jem ReEid @

ATAR e foepreTeeh Feee § ‘Teier

& e fasRa e & ?

[1] Ha-usi

[2] Yd-wifRaTcTh

[3] Hoi-Hishareeh

[4] u=mRe-Hihars

1. fefkfed & § @901 faw @@ 78

g7
R & AN-  STaeqst @l
oS e @t B

e

[1] U8d S9M STUY - el ofaen
EI]

[2] T S e - drEal s
it

[3] @l I - Yl ST
ool T Skl

[4] STFaEE g9 - ARl STaRe
]

Level-2/811

[4]

5. Which of the following statement is
not correct with reference to
adjustment ?

[1] It creates imbalance.

[2] It motivates to change the life as
per the demand of the situation.

[3] It gives ability to bring desirable

changes in the conditions of

environment.

[4] In the absence of adjustment one

is surrounded by tension and

anxiety.

|®

According to Piaget's cognitive
development theory, the 'ability of
reversibility' develops during which
developmental stage ?

[1] Sensory motor

[2] Pre-operational

[3] Concrete-operational

[4] Formal-operational

Z. Which of the following match is not

correct ?

Erikson's Stages of Serial
Psycho-social Number of
Development Stages

[1] Initiative Vs Guilt - Stage 3

[2] Identity Vs Role - Stage 5
Confusion

[3] Autonomy Vs - Stage 1
Shame and Doubt

[4] Industry Vs - Stage 4
Inferiority



8. f=fofag & @ #9-a1 da@ R &

HEHS Taegadl Maid 9 Geih 78

z?

[1] s

[2] e

[3] T&: g

[4] geieT

frffea & & @9-a1 F99 St

St d w7 R 7

[1] AR F SAREROTHS-IHEIAES
f4QIyaT 9 SR 2

2] f¥ERl Tl s 8 QU
TS & Tl ol

[3] afgRl & Aoy €9 9
S R

[4] sfgRl S=ema w@ A &Ft
B R

10. Fefated & @ fF-a91 w0 T &

freere & SR ¥ @& &7

|«©

[1] fqr@ AE AERERT H Th
SR B

[2] far@ Uh FERed gEed SIgE
FH Bl

[3] foerrd wh w=rll ufwRar B

[4] fom & ol oM eradsia
T 2l

Level-2/811

[5]

[A]
8. Which of the following elements is
not related to Skinner's operant
conditioning theory ?
[1] Extinction
[2] Discrimination

[3] Spontaneous recovery

[4] Reinforcement

|«©

Which of the following statement is

not correct with reference to Attitude ?

[1] Attitude has  motivational-
affective characteristics.

[2] Attitude

positive to strongly negative.

can range strongly

[3] Attitude have a subject-object
relationship.

[4] Attitude is innate and acquired

both.

10. Which of the following statement is

correct about the development of

children ?

[1] Development is a product of
only hereditary.

[2] Development follows a random
pattern.

[3] Development is a cumulative
process.

[4] Different aspects of development

are not interrelated.



[A]

11. Fed B S0 g g T0E, T

TR B

[1] Jafes sfsss TQeoT &l

[2] | SMieeeh G &

[3] Stsmisaes GiEoT &l

[4] snfsssh U STemfeass e &

frefofad & & $9-8 gomesdr Bl
fadwar 78 & ?
[1] A
[3] ST

[2] Q=i

[4] RIS
Frefafed & @ F9-a1 F% Reor-
SRRt ufsar 1 gl 7 e ® 7
[1] farers 1 fRwETT Hierd

[2] 78T 7 HHTED el

[3] foreres &1 fawg &=

[4] frers @1 aTR® w4

g F=at § fFe MR &.-uRaas aw
g7

[1] GCEHh

[2] Y@

[3] HXEe T TbEic® Al

[4] 7H 4 3B T

‘@O Y UER @ Al s== @
R & Qo Aol dor § 7

[1] SfTSTe
[2] % STfFTHRAT
[3] erferme oramef

[4] ¥ g

Level-2/811

[6]

11. Cattell's

culture free test of

intelligence is a type of :

[1] Individual Verbal Test

[2] Group Verbal Test

[3] Non-Verbal Test

[4] Verbal and Non-Verbal Test

Which of the following is not a
characteristic of creativity ?

[2] Flexibility
[4] Fluency

[1] Originality
[3] Rigidity

Which of the following factors does not
affect the teaching-learning process ?

[1] Teaching skill of teacher
[2] Mental health of teacher
[3] Subject knowledge of teacher

[4] Physical appearance of teacher

What kind of changes does growth
bring about in children ?

[1] Structural
[2] Functional
[3] Structural and functional both

[4] None of these

'Acceleration’ is an important plan
for education of which type of
special children ?

[1] Gifted

[2] Slow learner

[3] Learning disabled

[4] Mentally retarded



16.

FAicAs  Ufddsdr SRR @l
T Wl SRRl W ST Bl
e SRl geae ST © ¢

[1] Ff¥ea sfave

[2] SREHsi S

[3] Ffvaa st

[4] |ad

T o oged o (R & W) &
fesm & o T ¥, FHEd ® ¢

[1] Rdbfers-sied

[2] diferemifeed

[3] it

[4] gxitm

T TER H e TOET S ued
o WX & ghe q THE Q. T,
fog W9 O @ AH Hew@ &
I R

[1] =i aderer

[2] sifeRd adierer

[3] emfeses adteror

[4] FoaRs adierer
frfafad & § SH-8 affaa stisa
P AT fafy & ?

[1] HTefTehT
[2] STaeie
[3] ST
[4] 915 HETd

Level-2/811

[Z]

16.

19.

[A]

What type of reinforcement schedule
is to reinforce each correct response of
the learner, in operant conditioning ?
[1] Fixed interval

[2] Variable interval

[3] Fixed ratio

[4] Continuous

'Development  proceeds in the
direction of longitudinal axis (head
to foot)', called :

[1]¢ Cephalic-Caudal

[2] Proximodistal

[3] Spiral

[4] Circular

A type of intelligence test in which
the questions are similar in difficulty
level but more importance is given to
the time element :

[1] Speed Test

[2] Power Test

[3] Verbal Test

[4] Performance Test
Which of the following is not a

subjective method of personality

assessment ?

[1] Interview

[2] Observation

[3] Autobiography
[4] Word Association



[A]

20.

dMd gfe | oed, oo 9 e
T AR § I ®E 8 T8
JETET &

[1] st frrarett &

[2] S qafereh RreTaret &

[3] Sraciiba Rt

[4] Srufer Ry=Taret

X A STl % WS (G &
fhl YN % UEHHH & AT H
gerg fear ?

[1] GHash qreasrs

[2] fafarse qrgased

[3] e argEsRd

[4] Tehighd TEThA

22, fawE & GEISTh-dipics REid i

forem fefta fomam 7
[1] arameeht
[2] TReEA

[3] igaa
[4] ST%BASY

23. 98 ST N FedEl 2, NEd &

i U WE F I Rl
AR & e URakid & H G
FA & °

[1] drerHtERTe
[2] FfereBeoT
[3] ART=iHeT
[4] S&qer

Level-2/811

[8]

20. Meenal is average in intelligence,

low in creativity and high level in
adjustment. This is an example of :
[1] Inter Individual Differences

[2] Intra Individual Differences

[3] Observable Differences

[4] Expected Differences

21. Which type of curriculum did Bruner

suggest to follow for the cognitive
development of children ?

[1] Anclusive curriculum

[2] Special curriculum

[3] Spiral curriculum

[4] Integrated curriculum

Who developed the Socio-cultural

theory of development ?
[1] Vygotsky

[2] Erikson

[3] Kohlberg

[4] Bronfenbrenner

What i1s
through which a child tries to

the mechanism called,

change his own ego to that of

someone else ?
[1] Identification
[2] Rationalization
[3] Sublimation

[4] Projection



[91] [A]

24, ffafad & @ dH-91 92 FawE & 24. Which of the following component
gfs EXE Hisq & S 78T © 7 is not the part of Guilford structure
of Intellect model ?
[1] &fskam [2] G5 [1] Operation  [2] Cognition
[3] ﬁlﬂ'ﬂﬂ'{ﬁ [4] S [3] Content [4] Product
25. Tg@s«’ & Brdea Risia & uioae e 25. Who propounded the Triarchic
fpar ? theory of Intelligence ?
[1] TR [2] Rremie [1] Gardner  [2] Guilford
[3] &= [4] a=id [3] Sternberg [4] Vernan
26. SMBSNX $  og-UIRRAEl Hisd 26. 'Family and School' are the examples
Rrgid & ‘oRan wg foemer  fed of "which environmental system in
QRN T % SEEIT § 7 Bronfenbrenner's Bio-ecological
Model theory ?
[1] Tshfrey [1] Macro system
(2] qﬁiﬁﬁﬂ?’:{ [2] Micro system
[3] QEI«_rﬁﬁI'ET[ [3] Exosystem
[4] MIREH [4] Chromosystem
27. FHfRaT T 9 P=dr g qel & 21. Which of the following pair is not
g7 correct ?
Rrsia Rrsia Theory Theory
I EES Propounder
[1] Emt N BIRIE IR CEA T [1] Piaget — Cognitive
fosia Development Theory
[2] Elg?[ — e S [2] Bandura - Social Learning
fosia Theory
[3] tRFET - e fawd [3] Erikson — Psycho-socio
fosia Development Theory
[4] aEFleell — Ao e R [4] Vygotsky — Moral Development

Theory

Level-2/811 P.T.O.



[A]

28. f=fefed & @ H9-91 % guEINK

i B fadwar 78 2 ?

[1] A= emaneti O dmmel & 9K |
SISl

[2] @¥ Td gEA F THE BT

[3] Wi aepiEmd

[4] FaeR | TR

AR TR HE 51”7 A @
% qg IRAT e ER A R © °

[1] AFR
2] TewE
3] R

[4] dffee

Frefofed "Hiasntrbr. & & @
e § ddta 78 § ?

[1] e

[2] IR

[3] IR

[4] TR

[10]

28. Which of the following is not the

characteristic of a well-adjusted person ?

[1] Awareness of his own potentials
and limitations

[2] Respecting himself and others

[3] Balanced aspirations

[4] Rigidity in behaviour

"Mental . health is the full and
harmonious functioning of the whole
This of

personality." definition

mental health is given by whom ?
[1] Menninger

[2] Hadfield

[3] Drever

[4] Waltin

30. Out of the following Psychologists,

who i1s not related with Gestaltism ?
[1] Kohler

[2] Koffka

[3] Kretschmer

[4] Wertheimer

Level-2/811



[11] [A]
[T - II (PART - II)
A7 (= g 3fSH) [ LANGUAGES (HINDI & ENGLISH) |

f&=<t (HINDI)
fdsr : e g7 % v &7 % [ @ag SfEa Awey g
31. fopar @l gt ¥ oG faehed T 34. T F g F BA-A TW @@ T 7
(1] WY 9 Rrgam 2 - SR (1] &= - &
o I S L
[2] 9 8 W Tl & - STHiS 3] T - ARG
foran [4] eRER - e
[3] ot arh H R e T R 35. “¥e. SR Wl o’ dqEd H g
- femv® Bpar ‘e’ % | PHE-dl Ge R 7
[4] gofiel SIR-9R-9 &9 & ® - [1] sTifceres
THE fohdT [2] HrEErs
v favand ¥ [4] AfTaTe®
[1] %d, STEIN, HeMT 36. ‘SETdl I H W ©
[2] %, TN, HEmeT [1] et
[3] F3b, TGV, ST 2] Bg=
3] g
[4] %A, 3THIY, ST 5]
[4] it
33. ‘HrEER % H GOl Ai-fOees ©
31. fodm @t 3ftc | org faeben g -
[1] e + ST=RY
[1] 7& - J&
2 S [2] @fte - gHie
[3] &g + SR (3] s - R
[4] | + ST [4] SN - W=

Level-2/811 P.T.O.



[A]

Tl o= & P9-6 G § 7
[1] &9 @ dfr

[2] o1 @ Gfy

[3] 99 &R Gy

[4] &S €iY

39. ‘REmar #1 9% gaEEt B ¢

[1] IhaT
[2] S
[3] aist
[4] =BT

40. 79 fTecq ¥ URYEES AN #;

ST B3 B 7

[1] o uf= feelt g & m

[2] 9 UfE B @M I

[3] 9o dredt Fem # e sl

[4] 9@ & T HB. = EF © o

41. ‘gme W Sse-d X OREE T W@ g,

g A 317 a9 ¥ fR wdem &
ST BT & °

[1] J5uar=h
PARGEEIEE?
[3] Me=E=®
[4] STg=E=h

[12]

42.

g o & vgare dled ST @&

ST e & 7
[1] Sgarer
[2] ==&
[3] diera
[4] T

43. ‘GO 9= § -9 q99 & ?

[1] FHERT 99
[2] &= §99
[3] STEAEE THE

[4]/91g% T T

44, 9 9= ¥ O IO B TEN 78T

g & ?

[1] STgaX
(2] STgTH
[3] STg=X
[4] ST

45. fqa @ &1 w9 o= § 2

g7

[1] T st |

[2] 39T o) H

[3] dewa g |

[4] Soga &+t o=t |

Level-2/811



37Nl (ENGLISH)

[13]

[A]

Direction : Answer the following questions by selecting the most appropriate option.

46.

Select the appropriate one word
substitution for the following :

Former students of a school or college
[1] Emblem [2] Alumni
[3] Expert [4] Incharge

41. Change the Narration :

"I'm taking the children to the
z00 tomorrow." She said.

[1] She told that she would be
taking the children to the zoo the
day after

[2] She said that she will take the
children to the zoo the next day

[3] She told that she will be taking
the children to the zoo

[4] She will take the children‘to the
700, she said

48. Choose the correct synonymof :

Genius
[1] Happy
[2] Cheerful
[3] Talented
[4] Comfort

49. Select the appropriate preposition for

the blank :

He has not yet recovered .......... his
illness.

[1] over [2] in

[3] at [4] from

Level-2/811

50. Choose the option that brings out the

meaning of the underline idiom :

A lion's share of India's annual
budget is for defence.

[1] major share
[2] minor amount
[3] small

[4] very little

al. Select'the correct antonym of :

Gloomy
[1]} Praise [2] Coarse
[3] Cheerful [4] Dismal

94. Choose the appropriate conjunction

for the blank :

I shall not go .......... I am invited.
[1] and [2] unless

[3] but [4] there

93. Change the narration to Reported

Speech. Choose the right option :

"Who has been using my
typewriter ?" Said Mother.

[1] Mother asked who has been
using her typewriter

[2] Mother said who was using her
typewriter

[3] Mother asked who had been
using her typewriter

[4] Mother asked her typewriter was
being used by who



[A]

4.

Select the correct meaning of the
underlined phrasal verb :

Who can say what will turn up next ?
[1] remember

[2] divide

[3] end

[4] happen

99. Choose the part of sentence that has

CITOor

she does not/ resemble to / either of /

A B C
her parents
D
[1] A 2] B
3] C [4] D

56. Select the correct tense form from the

options given :
When 1 first (come) to this‘house, it
(be) a very quiet area :

[1] comes, is
[2] came, was
[3] coming, is

[4] come, are

57. Select the correct tense form from the

options given :
Peter (try) to come in quietly but his
mother (hear) him.

[1] tried, heard
[2] trying, hears
[3] was trying, was hearing

[4] is trying, hears

[14]

58.

Change the voice from Active to
Passive and select the correct option :

Bees make honey
[1] Honey is make by bees
[2] Bees are making honey
[3] Honey are made by bees
[4] Honey is made by bees

59. Change the voice and select the

correct option :

Somebody has put out the light.

[1] The light has put out by
somebody

[2] 'The light has been put out by
somebody

[3] Somebody has been out to put
light

[4] The light is being put out by
somebody

50. Select the correct preposition for the

blank :
Ishalldoit......... pleasure.
[1] in
[2] with
[3] about

[4] over

Level-2/811
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[A]

AR - ITI (PART - III)
9MY 374 (GENERAL STUDIES)

RS ARG, Tiiched ST T4 | ST U§ SIS (QUANTITATIVE APTITUDE,
REASONING ABILITY AND G.K. & AWARENESS)

3 : e 797 % o7 &7 & [ qag ST [dwey g

Direction : Answer the following questions by selecting the most appropriate option.

61.

RE JeR gt & w9 W 9
SHl T e T T BAT

[1] T 9
[2] &} Q
[3] @& 4

[4] g0 &

62. T T AT & GRET HUA G Hel

“gg IR T & U @ 9 & Ui
27 v I 9 R veR aefag
g7

[1] &
[2] ST
[3] e

[4] 3

63. IR & IR TR A BRI 5T ®W &

I A dF R Fem A s S8 R
U%h 39 O 8, 39 /3G7T H BT :

[1] STUA
[2] RQPA
[3] MLKA
[4] HGFA

Level-2/811

61.

Earth is related to Axis in the same
way as wheel is related to :

[1] Tyre
[2] Car

[3]7Road
[4] tHub

62. Anil introduces Prashant, "He is the

husband of the grand daughter of the
father of my father".
Prashant related to Anil ?

How is

[1] Brother

[2] Brother in law

[3] Nephew

[4] Son

Four groups of letters are given
below, three of them are alike in

certain way while one is different,
choose the odd one :

[1] STUA
[2] RQPA
[3] MLKA
[4] HGFA



[A]

64. 71 T H@m F# OFT W M

HIoT -

LXF, MTJ, NPN, OLR, ........
[1] PHV

[2] PIU

[3] PIW

[4] PKX

65. fhdl Fied HT & 786 @ o

'Study very hard', '958' &I 318 'Hard
work pays', '645' & & 'Study and
work', @ 'very' &l IS T BN ?
[1] 8

[2] 6

(31 7

[4] 5

AL A, B § 40 HieX SRO-giEH §

&, C, B § 40 #i<X 3hrrgd 7 7,
qC, A ¥ g fsm & &rm ?

[1] g

[2] df=H
[3] STR-Fd
[4] aferer

Level-2/811

[16]

64. Find the next term in the following

letter series :

LXF, MTJ, NPN, OLR, ........
[1] PHV

[2] PIU

[3] PIW

[4] PKX

65. In a certain code '786' means 'Study

very hard', '958' means 'Hard work
pays', '645" means 'Study and work’,

which is the code for 'very' ?

[1] 8

[2] 6

3] 7

[4] 5

If A is 40 meter South-West of B, C

18 40 meter South-East of B, then C

is in which direction of A ?
[1] East

[2] West

[3] North-East

[4] South



61.

150 fqeniiat s ura ofd sfd 35
I IR T /4 S R @
qEd adiE 39 B OJA ST
frenfis &1 e wraiw 15 @, @
qiem § SNl 8N o foEnir &
&1 § T
[1] 120

[3] 135

2] 125
[4] 140

I a*=b,b" =c A ci=a, @
xyz &1 A9 ¥ B 7

[1] abc [2] 1
3] [4] ab
abc

69. & BII § B T F FEn #@a

BT S 4, 5, 6, 15 o1 18 | _yofe:

foremfora @t :
[1] 800 [2] 225

31 900
(W52 x (V5 )" %t et v v 2

[4] 361

[3]

[4]

Level-2/811
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61.

10.

[A]

The average marks obtained by 150
candidates was 35. If the average
marks of passed candidates was 39
and that of the failed candidate was
15, find the number of candidates
who passed the examination :

[1] 120 [2] 125
[3] 135 [4] 140

If a*=b,b” =c and c¢*=a, then

what is'the value of xyz ?

[1] abe [2] 1
B [4] ab
abc

69. Find the smallest perfect square

number which is exactly divisible by
4,5,6,15and 18 :

[1] 800 [2] 225
[3] 900 [4] 361
What is the value of

(\/g)—S/ZX(\/g)—?)/Z )

[1]
(2]
[3]

[4]



[A]

11.

PE O IS AW H W 15
¥ AT & S 2, O e at § T8
SEl AT & & § 8 A1 B S ?

[1] 30 ad
[2] 40 a¥
[3] 60 a4
[4] 45 a¥

& 25 oTeH fhel wad @ 60 &l
T e ghd &, A 10 EH I HEd
& fram R & e g ?

[1] 125 R
[2] 92 &9
[3] 100 f&=
[4] 150 T

13. IR x+l=5 éT,ETT x3+i3 &l HIT

X X
T BT 7
[1] 125 [2] 110
[3] 115 [4] 105

e b gE w1 SRl U
I 7

2,7, 24, 77, 238, ........

[1] 721 [2] 722

[3] 723 [4] 733

Level-2/811

[18]

11.

A sum of money doubles itself in 15
years at compound interest. In how
many years it will become 8 times at

the same compound interest rate ?
[1] 30 years
[2] 40 years
[3] 60 years

[4] 45 years

If 25 men'can reap a crop in 60 days,
then in how many days will 10 men
reap the crop ?

[1] 125 days
[2] 92 days
[3] 100 days

[4] 150 days

If x+l =5, then what is the value
X

of x° +L3 ?

X
[1] 125 [2] 110
[3] 115 [4] 105

Find the next term in the following
number series :

2, 7,24, 77, 238, ........

[1] 721 [2] 722

[3] 723 [4] 733



15.

\/8+2\/8+2\/8+ ........ el HM A9

it
[1] 8 [2] 10

[3] 11 4] 4

e B OIIE P H 50% W g
B 9, @ 5 aEhd @ e g
S i

[1] 50%

[2] 100%

3] 125%

[4] 150%

171. IR —H S X, + F T+, +~ H T +,

XF AT -, AW 15-5-5x20+ 10
& AN 1 BT ?

[1] 70
[2] 78
[3] 75
[4] 73
el @& @ 72,000 0@ & SR W

frelt afd ®F 20% @ @ B B, @
S aK] BT BT T T AT °

[1] 60,000 %o
[2] 50,000 %o
[3] 40,000 To
[4] 65,000 %o

Level-2/811
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I5.

[A]

Find the value of :

J8+2 8+248+........

[1] 8 [2] 10
[3] 11 (4] 4
If each side of the square be

increased by 50%, then find the

percentage increase in the area :
[1] 50%
[2] 100%
[3]125%
[4] 150%

17. If X stands for —, + stands for +, + stands

for +, — stands for X, then what is
the value of 15-5+5%x20+107?

[1] 70
[2] 78
[3] 75
[4] 73
By

Rs. 72,000, a person made a profit of
20%. What was the cost price of that

selling a commodity for

commodity ?

[1] Rs. 60,000
[2] Rs. 50,000
[3] Rs. 40,000
[4] Rs. 65,000



[A] [20]

79. ™ "j’@?ﬂ T H9-91 9§ AT e ? 79. Which term 1is wrong in the
following series ?
8, 13,21, 32,47, 63, 83 8, 13,21, 32,47, 63, 83
[1] 13 [1] 13
[2] 32 [2] 32
[3] 47 [3] 47
[4] 63 [4] 63
80. T% 39 o9 el ‘I@}f W dd T q 80. A solid cube is coloured red on all
T T Bl 39 64 BIC g1 ° FleT faces. It/is'cut into 64 smaller cubes
ST ®, OF fhaw 8l 59 = R of equal size. How many small cubes
P13 I8 M g el Bl 7 have.no face coloured ?
[1] 24 [17 24
[2] 16 [2] 16
[3] 8 [3] 8
[4] 4 [4] 4
8l. I8 WM, Frae =Nl FEl o =i 81. The place, which was visited and
T g7 IR SwE A T mentioned by Chinese traveller Yuan
Chwang :
[1] ster [1] Agroha
[2] g7 [2] Sugh
[3] FB&= [3] Kurukshetra
[4] QT [4] Panipat
82. g R, &l Siwige g e ® ¢ 82. The district, where Dolomite is found :
[1] A5T6 [1] Mahendragarh
[2] T [2] Gurugram
[3] et [3] Faridabad
EARCIBIRG [4] Panipat

Level-2/811



83.

BRATOT TR &l [BH T & ded
BT % §uW ga @
gETTE-eTRie 21 dar fFar o <@
g7

[1] 3Tcled URER SN ot
[2] 9RER Yea™ 9 e
[3] Jew= TRAX Tgis AT

[4] S SMER QS0

qigament & foe oTRfer @ 18 diel
i B -

i
2l

[1] 25% [2] 33%
[3] 66% [4] 50%
85. g8 ffel, @I Teell S eRamen &
-9 AR fpar T R
[1] Teu™ [2] Hempa
[3] feEX [4] X&a®

‘Hea {E doee’ [geRa e S

@R

[1] THo THo o 3Eo o Hio,
BATT TN &R

[2] Sflo THo Elo To, BRIATT EHR
|

[3] T@o Jo Slo Uo, ERAMT TR
|

[4] &8 9@ "1, 9RA GR
|

Level-2/811

[21]

[A]

83. Under which scheme of Haryana

the socio-economic

data of all the families of Haryana is

Government

being created ?
[1] Antyoday Parivar Utthan Yojna
[2] Parivar Pehchan Patra Yojna

[3] Mukhyamantri Parivar Samriddhi
Yojna

[4] Jan Aadhar Yojna

84. Percentage of posts which have been

reserved for women in Panchayati
Raj Institutions of Haryana :

[1] 25% [2] 33%
[3] 66% [4] 50%

85. The district, where first time in

86. 'Global

Haryana  E-challan has  been

introduced :
[2] Panchkula
[4] Rohtak

[1] Gurugram
[3] Hisar

City Project' 1is being
developed by :

[1] HSIIDC, Govt. of Haryana

[2] GMDA, Govt. of Haryana

[3] HUDA, Govt. of Haryana

[4] Ministry of Urban Development,

Govt. of India
P.T.O.



[A] [22]

81. dg \“ﬂalé, i gfdreror & Reasnll %@ 81. The award, which is given to a sport

BRATT o9 BN O HieRs @ A coach for excellence in coaching by
S ® the Haryana State :
[1] Ry ofars [1] Dronacharya award
2] & dRTS Jrars [2] Guru Vashistha award
[3] HERIM a9 Sfars [3] Maharana Pratap award
[4] ST Srere [4] Arjuna award
88. &G Hl g 9 eRaen @ 9Ra | 88. The position of Haryana in India in
N R respect of area is :
[1] 11af (L] 11th
[2] 21af [2} 21st
[3] 154 3] 15th
[4] 184 [4] 18th

89. &% & 3 A g a4 g 89. The smallest (in term of area) wild

IR B life sanctuary is :
[1] FeE™ [1] Bhindawas
ARSI [2] Nahar
[3] |t [3] Saraswati
[4] fescfea [4] Chhilchhila
90. &M # U9 U & fafee: BRI 90. The de jure head of the State
g Administration in Haryana is :
[1] T & gess=i [1] Chief Minister of the State
[2] T SIREN] [2] Divisional Commissioner
[3] T°Y & HETeEeaRT [3] Advocate General of the State
[4] T & oAU [4] Governor of the State

Level-2/811
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[A]

9RT - IV (PART - IV)

fasT (SCIENCE)

3T : Rt g7 % g7 7 & [ qag ST [Awey g

Direction : Answer the following questions by selecting the most appropriate option.

91.

T e @ @ L ooiR B R
B Bl & Al AU B GAE A9 W
peei i | TR B L | e e M A G |
8BS HARHTH S H GA@H Bl
g7

[1] L=25cm, R=0.5cm
[2] L=50cm, R=1.0cm
[3] L=75cm,R=1.5cm

[4] L=100cm, R=2.0cm

92, TH FR Bl T & I, B a@ B

EN Y5 & 6 sec & d& UHS foral
S B e e ER 0% W TE,
qe ¥ (g=10m/s> o)

[1] 30 m

[2] 45 m

[3] 60 m

[4] 90 m

Level-2/811

9l.

Two ends of rods of length L and
radius R of the same material are
kept at same temperature. Which of

the following rods conducts the

maximuniheat ?

[1]'L=25cm, R=0.5cm
[2] L=50cm, R=1.0cm
[3] L=75cm,R=1.5cm

[4] L=100cm, R=2.0cm

92. A ball thrown up is caught by the

thrower 6 sec after start. The height
to which the ball has risen is :

(take g = 10 m/s%)
[1] 30 m
[2] 45 m
[3] 60 m

[4] 90 m



[A]

93.

fr=ifoifeg & @ S9-a1 asiicdoT &9
F &g A SR 78T © ¢

[1] T YT Gl T HA AT
2

[2] Tt § | @ SuRaf

[3] 79 & T W fRfeT wa #
Iufefa

[4] T & dd8 W AHG WRd B
g

qE HE qE, ThH abSl B «AD A
39 AET FHA UX SIUAT ST AT WY
N g, A fovmmEer § oM ¥ yedl

I8 R o Fe o (| H) P
[1] 1 [2] 2

[3] 3 [4]-1.5

95. fHffad & @ *H-@1 o FGT

g7

[1] ReN, R &R omiirm d
TR B &

[2] &R & pH 78 &5 B 2

[3] JRmEEH H REN #w ow
SURed BT o

[4] STU daed § 9 R &
e da= B ol

Level-2/811

[24]

93.

95.

Which of the following is not a

xerophytic adaptation to reduce

transpiration ?

[1] Stems take over the function of

photosynthesis.

[2] Presence of hairs in stomatal
pits.
[3] Presence of keratin layer on the

leaf surface.

[4] Presence of waxy coating on leaf

surface.

If a body loses half of its velocity on
penetrating 3 cm in a wooden block,
then how much will it penetrate

more before coming to rest (in cm) ?

[1] 1 2] 2

[3] 3 [4] 1.5
Which of the following statement is

wrong

[1] Histones are rich in lysine and

arginine.
[2] The pH of histones is less than 7.

[3] An octamer of histones is

present in nucleosome.

[4] Five types of histones

involved in DNA packaging.

are



96. N HI@ H Y09 3% d ST Th

qaEE  AERT B0 wd 9 |
oige WY ded 21 UHige Stfufhar #

Teh 9] S H qE 91 & &N
feremas & B

fr=ifeifeg & @ f9-a1 g gmiEe
TR T i &ear & ?

[1] MgO+Zn — Mg + ZnO
2] 2Fe+ ALO; — Fe, 05 +2Al
3] 3Zn+ ALO; —3Zn0O +2Al

[4] 2Al+ Fe, O3 —.ALO; +2Fe

97. Fr=fafad & & HH-A1 AN S B

e 7 ®?
[1] i &Ra da
[2] ATEHITHT

[3] s wRd
[4] BRee

Level-2/811
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[A]

96. The welding of railway tracks was

done in the past with the aid of
chemical reaction known as the
thermite process. The thermite
reaction involves the displacement of
a metal from its solid oxides by

another metal.

Which' of the following equations

could represent the thermite reaction ?
[1] MgO+Zn — Mg +ZnO

[2] 2Fe+ ALO; — Fe,O; +2Al

3] 3Zn+ ALO; —3ZnO+2Al

[4] 2Al+ Fe,05 — ALO, +2Fe

97. Which of the following is not a

member of Kingdom Monera ?

[1] Blue green algae

[2] Mycoplasma

[3] Slime moulds

[4] Methanogens



[A]

98. Y QU T FdI W FEEA § ThH qW

& AIEED AR B I DI :
A. T

B. @&daT

C. gsg=
D. &

E. 9@ed

& -

[1] Atwd E
[2] Aw C
[3] BW D

[4] CWd D

99. 60 kg M @ UHh A MFE &

Y FAMER A W @S Bl AR
fode @y B0 /@ 9 H SR A
g, T FAMRR el 1 WShish BN

[1] 60 kg & T
[2] 60 kg § ST
[3] 60kg & &Y

[4] LA

Level-2/811
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8.

Select the essential parts of a flower

using the codes given below :
A. Petals

B. Pistil

C. Peduncle

D. Stamens

E. Sepals

Codes :

[1] Aand E

[2] Aand C

[3] Band D

[4] Cand D

99. A person of mass 60 kg is standing

on a spring balance inside a lift. If
the lift falls freely downwards, then
the reading of the spring balance will

be equal to :

[1] equal to 60 kg
[2] more than 60 kg
[3] less than 60 kg

[4] zero



[27] [A]

100. TF WA H G F Hed d

100. Which of the following statements

Frfared & & &9-8 %9 98 787
g7
(i) ¢ &Y F G S Bl B
(i) THIY] T JArRH (99%) FT ol
(i) /A H T X A H
Hahiad B
(iv) @t AT o o ()
e § =R B Bl
@& foeea @
[1] (ii) T (i)
[2] (iii) T (iv)
[3] (ii) @& (iv)
[4] (1) 7T (iv)

Fret & @ 391 @& FF AR®S

ged § Tliw Tog B, 9 S

e w8 R

[1] T8 daq cfifea arar & s &
g S 2

[2] T& 99k S H HAGH 8 BN
yfcrenfyd #X & S &

[3] g5 gl d ol Sliaea §
W &Y Y e wE AR B

[4] 95 URpeliad § Stad w1 qEi
S R odm R ¥ W oaw dan
B Bl

Level-2/811

are incorrect about the structure of

an atom ?

(1) The atom as a whole is neutral.

(i1) The atom is an indivisible particle.

(ii1) The whole mass of an atom is
concentrated in the nucleus.

(iv) All the atoms are stable in their

basic state.
Correctoption is :
[1] .(ii) and (iii)
[2] (ii1) and (iv)
[3] (ii) and (iv)
[4] (1) and (iv)

101. Which one of the following statement

is totally wrong about the occurrence
of notochord, while the other three

are correct ?

[1] It is present only in the tail of

ascidian larva.

[2] It is replaced by a vertebral

column in adult toad.

[3] It is not persistent throughout
life in chondrichthyes.

[4] It persists throughout life in
Amphioxus and extends from
head to tail.



[A]

102.

T% o7 R&EX ¥, @ Jed § B a|
F Iofp & et & IRA ©F A
T | Rl gaerr § g3 S Bl
AT A H JAE U 24 Q 7§ SR)
Td% Od P AR g 1 Q 8l
fogrosd 1.5 V &, @ Y0 a1 W&
H T G R

[1] 0.1 A 2] 0.2 A

[3] 0.3 A [4] 0.4 A

Brear R & Th goilg gUsal § T
R a1 yarfed & @ 8l oS &
PE W AR FFsAl & AT W 6@
% 4 V3 R Q@ | g9 & @l

Y ©

[1] 2:1 [2] 5473

3] 8:1 [4]°3 22

% [Eed # ST § gHe &
IRM, dga ot AR # Afemd
TRSIARS Bl Sl &1 B gU &R R
FEEAET FH F U B e
e & fe™ W SUgE 787 § 7

Level-2/811
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102.

In a tape recorder, while connecting
six cells in a battery in series by
mistake one cell is connected with
reverse polarity. If the -effective

resistance of load is 24 Q and
internal resistance of each cell is 1 Q
and em.f. 15V, the -current
delivered by the battery is :
[1] 0.1 A [2] 0.2 A
[3] 0.3 A [4] 0.4 A
An: electric current is flowing

through a circular coil of radius R.
The ratio of the magnetic field at the
centre of the coil and that at a
distance ~/3 R from the centre of the

coil on its axis is :
[1] 2:1 2] 5:3

(3] 8:1 [4] 3:2

In an accident in a school lab, a large
sample of aqueous sodium hydroxide
was split. Which substance when
added in excess, is not suitable for

neutralizing the alkali spill ?
[1] Sulphuric acid

[2] Oxalic acid

[3] Citric acid

[4] Sodium hydrogen sulphate



105. I FH P, AR P, 3 o e -9y

T T AT B a1 30° ST 45° &
FOT W FH g3 A4 W@ B IS
T H A V,, VB

[1] 1: 43
2] +/3:1
3] 1:3
4] 1:1

N 89 & oA q EeH &
HV-9 AFES A & © 7

[1] NO 3R NO,
[3] N,0; 3 N,0;

[4] NO; 3T N,0s

Tk G e 3 R qer 4 g
2, @ HaRar Bl © ¢

[1] 7

2] 1

[3] 3

[4] 4

Level-2/811
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[A]

105. The displacement time graph for the

two particles P, and P, are straight
lines inclined at 30° and 45° with the
time axis. The ratio of velocities
Ve 1 Ve, will be :

[1] 1:+/3

2] V3:1

3] 13

[4].1:1

Which oxides of Nitrogen are

generated by burning of fossil fuel ?
[1] NO and NO,

[2] NO,, NO; and N,Os

[3] N,0; and N,O;

[4] NO; and N,Os

An atom with 3 protons and 4

neutrons will have a valency of :
[1] 7
2] 1
[3] 3

[4] 4



[A]

108.

geRE 50 Q W Th T Uil
IR o WM W) e 3w,
9 399 ¥ 0.5 mA F gR] ganed &
ﬁﬁ%l%ﬁlOvoltW%aﬁW
7 gRafdd & & A asgs oy

g
[1]1 1950Q  [2] 2000

[3] 19950 Q [4] 20000 Q

T% TERY Aah B STaasa T, il
T 59 98 Yl @ G0 W & AR Ty,
S 39 g Ha€ @ R $OE W A
ST ST ¥ SRl R get @ B R
To/T, & |9 BT :

2] 2
[4] 4

[1] 1
[3] 2

Freifafad aeedl, H 8§ $E-8
JgeT 19 §eM ) Sedl & 7

[1] g, facear, Y&t & gdiee
[2] g, faawor, Y6 @ SR
[3] e, focaan, T4 & g

[4] Ga, foaer, TGt &1 d@ies

Level-2/811
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108.

A moving coil galvanometer of
resistance 50 Q gives a full scale
deflection, when a current of 0.5 mA
is passed through it. The resistance
into a

required to convert it

voltmeter of range 10 volt, is :

[1] 1950 Q [2] 2000

[3] 19950 Q [4] 20000 Q

A simple. pendulum has a time
period. T;, when it is on earth's
surface and T,, when taken to a
height R above the earth's surface.
Where R is the radius of the earth.
The value of T,/T; will be :

2] V2

[4] 4

[1] 1
[3] 2

Which one of the following set

phenomena would increase on

raising the temperature ?

[1] Evaporation, solubility,
compression of gases

[2] Evaporation, diffusion,
expansion of gases

[3] Diffusion, solubility,
compression of gases

[4] Condensation, diffusion,

compression of gases



[
ol

[
ol

Th g WEl § 59 s AEgc
fpeeqt @l ool § T A ST ©,
[1] TF U &Y Tl 8

[2] WEal § 990 g9 T Bld &
[3] freeat sfim amdiga & ST ©

[4] T Ui @ T o

R &P & Okl & ol
Freifatad & & sH-a1 99ead M H
e e

[1] A, ST, HOX FANES
[2] SO, foeeer, Qefde™ T e

[3] AT, RSN, B dche
[4] e, RSN, i
e & & For arerd e

[1] o9a KR & o0 SEsdd ST
U IE R B GO 2 M |
ST Bl

2] % AFMg WX & fow
A GEH T S|

[3] AFE & Giid AER & fou g
Wy et e STEwEh Ui
aw & &l

[4] T A S 6 Fegel St
% UL IR H FHoll I Bl
g, FEERge, ad @ WM &
9 7 B B
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el

11.

el
e

[A]

When crystals of lead nitrate are
heated strongly in a dry test tube :

[1] a brown residue is left

[2] white fumes appear in the tube
[3] crystals immediately vaporise
[4] a yellow residue is left

Which of the following set can be
used for the denaturation of ethyl
alcohol ?

[1] Methanol, Water, Copper Chloride

[2]" Propanol, Vinegar, Potassium
Permangnate

[3] Methanol, Pyridine, Copper
Sulphate

[4] Vinegar, Pyridine, Water

Select wrong statement from the
following :

[1] Iron necessary for human body
is abundantly found in green
vegetables.

Zinc is one of the essential trace
elements required for human
body.

(2]

Fat and minerals are not the
essential nutrients for a balanced
diet of humans.

[3]

[4] The food that generate energy in
the  body complete
oxidation are in the form of

carbohydrates, fat and proteins.

after

P.T.O.



() T ¥ § FB TEIeE W H

@ & sy

(i) eBeeE N9 & U H STEAH
OB

(i) Tk ¥ 9= & SuRed eEgee 19
W I TEHT

(v) I H FEaH e famr, a= H
JTfaRed eEgiee N9 9=

[1] (ii) @ (iii)
[2] (i) & (iv)
[3] (1) 7T (i)
[4] (1) AT (iii)

Uh A T d T @
yRfees dea, g ogwe 100 R
F @ 9.6 x 10”° ¥ 500 R+t B a1
SR WY AR T & e
2

[1] 19.2x 10°
2] 9.6 x 107
(3] 3.84x 107
[4] 3.0x 107

Level-2/811

114.

In which of the following conditions,
the distance between the molecules
of hydrogen gas would increase,
filled in a container ?

(1) Some hydrogen gas leaking out
the container.

the volume of

container of hydrogen gas.

(i1) Increasing

(i11) Increasing pressure on hydrogen

gas™ contained in a closed

container.

(iv))Adding more hydrogen gas to
container without increasing the
volume of the container.

[1] (i) and (iii)
[2] (ii) and (iv)
[3] (i) and (i)
[4] (i) and (iii)

The initial number of atoms of a
radioactive element with half life
100 days, is 9.6 x 10" The number
of atoms remaining undecayed after
500 days, will be :

[1] 192% 10°
2] 9.6 x 107
(3] 3.84x 107
[4] 3.0x 107



116.

[
ol

Jiqash fawsaias mafe s E,

Hqifh

. QY & Siiad § YRFSH ofae
T e B 2

II. 3 9eY & wefs Y & fEior
T I EM F 2

[1] 3=t [ wd 11 98t &

[2] &4F 1 Td 11 g &

[3] Bad [ & B

[4] Baw 11 91 8

frefefeg & @ a9-w1 ™ o
qqoT & T B 7
[1] BIERIRE T
[2] GRS ot

[3] BRSNS T

[4] TEigdh T

T AT H qde 9 10 m TR UH
6 T T T BT 7

[1] 1 atm
[2] 2 atm
[3] 5 atm
[4] 10 atm
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116.

11

[A]

Intercalary  meristems are the

primary meristems, because :

I. They appear early in the life of a
plant.

II. The contribute to the formation

of the primary plant body.
[1] Both I and II are correct
[2] Both-Land II are incorrect
[3]-Only I'is correct

[4] 1Only II is correct

Which of the following does not

form an acidic salt ?
[1] Phosphoric acid
[2] Sulphuric acid
[3] Hydrochloric acid

[4] Nitric acid

What will be the pressure on a

swimmer 10 m below the surface of
a lake ?

[1] 1 atm
[2] 2 atm
[3] 5 atm
[4] 10 atm



[A]
119. Iq TEd H IURYT divaad BiEhe
% T B
[1] arii
[2] e
[3] &
[4] Svet

SRR aifgeprell #1 ST ER § ¢

[1] B SIS

[
N

[2] g1 3Yhell

[3] &R U

[4] Tearedt Sushar

A G qE F AR H BN
feds e 3d @ &M & dea
100 el Hebvs & oAfepd § o
% URafdd ekl §l &t aan @l

gl 7 S ©

[
ol

[1] P FaX T B
[2] 2.5 Hz
[3] 5.0 Hz

[4] 10.0 Hz
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119.

=
N

el
[

Nature of calcium phosphate present

in tooth enamel is :
[1] acidic

[2] neutral

[3] basic

[4] amphoteric

The endothelium of blood vessels is :
[1] {Squamous epithelium

[2] Cuboidal epithelium

[3] Columnar epithelium

[4] Ciliated epithelium

Beats are heard due to interference
of two sound waves. The intensity of
sound changes from maximum to
minimum in 100 milli second. The
difference in frequencies of two

waves is :
[1] No difference
[2] 2.5 Hz
[3] 5.0 Hz

[4] 10.0 Hz



122. e § @ @E-wEE wd 9RY

9 BFE F o B 8, @ 7T I
AT HINT

(1% - W
[2] &FeXH — 8
[3] &=l — @
[4] T@ — WO

g O % Hed § Frefiad weei
W R #%, BT 1T g3 & gerd
7T B9 B AT DN

(A) B0 @ | FEH T&e ud g
P T B ol

(B) 0 @& & IUIN UIHE ©9 9
el %l BRI & TG HH 8]
fepam I R

(C) &l @R Sifqefed TRy wer B
&< -

[1] ATE B

[2] Bwd C

3] CTd A

[4] @ad B
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122.

[A]

Select the incorrect pair of the food
articles and the plant part from which

it is obtained from the following :

[1] Wheat — Fruit
[2] Ginger — Root
[3] Turmeric — Stem
[4] Tea — Leaves

Consider the following statements in
reference to green manure and select
the incorrect statement using the

codes given below :

(A) Green manure is rich in organic

matter and nutrients.

(B) Green manure is primarily used

to enrich the soil in phosphorus.

(C) Green manure i the

undecomposed plant material.
Codes :
[1] Aand B
[2] Band C
[3] Cand A

[4] Only B



[A]

124. f=ififeg & | S9-d, 51 @ ST

o S @ ?
(i) W

(ii) wgeed
(iii) BEC

(iv) BHC

[1] (1) T (ih)
[2] (iii) @ (iv)
[3] (1) <& (iii)

[4] (11) T (111)

125. TS HIEHRT B ST T@W ari

HIREBT BEarl § :
[1] eNftearmsed
(2] FrgEECH

[3] SRR

[4] HSSTTRTE

Level-2/811
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124. Which of the following are also

considered to be the states of matter ?

(1) Plasma

(i1) Platelets

(iii) BEC

(iv) BHC

[1]/ (1) and (i1)

[2] (ii1) and (iv)

[3] (i) and (iii)

[4] (ii) and (iii)

Cells that maintain marrow cells are

celled :

[1] Osteocytes

[2] Chondrocytes

[3] Osteoclast

[4] Marrowclast



126. T% Qr TR SileRy WWXxYyZZ
¢ U@ IOH WAl e Bl e
qafa g SRRl ¥ WWxxyyZZ
SiHlerRy FeRid &e (AR @ and
S @d= €9 | 9ated ald @) ?

1
[1] 3
1
[2]15
1
[3]81
1
M]'E%
127. FH-1 FH Hew-11 T FeE R g8
fohed &1 g WX
BieH-1 Hiaa-11
[ X-feot (A1 A
L 399 9T \(B) 2000 A
M. e (C) 5000 A
fafeRToT
IV. SE%E (D) 10000 A
fafeToT

[1] I(A), II(C), III(B), IV(D)

[2] I(A), II(B), LI(C), IV(D)

[3] I(D), II(C), LI(B), IV(A)

[4] I(B), II(D), III(A), IV(C)
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126.

[A]

A plant with genotype WWXxYyZZ
is self pollinated. What proportion of
the progeny will show the genotype
WWxxyyZZ (if all four genes are

independently assorting) :
1
11 =
[1] 5
(2]

[3]

|H I~ |~

[4]

—_
N
0¢}

Match the Column-I with Column-II

and choose the correct option :

Column-I Column-II
I.  X-Rays (A) 1A
II. Visible light | (B) 2000 A
I Ultraviolet | (C) 5000 A
radiation
IV. Infrared (D) 10000 A
radiation

[1] I(A), II(C), III(B), IV(D)

[2] I(A), II(B), HI(C), IV(D)

[3] I(D), II(C), HI(B), IV(A)

[4] I(B), II(D), III(A), IV(C)



[A]

128. %Y Y& B & ¥ HER gell @

AT B

[1] et & oo

[2] gedt &1 Hea (Smer)
[3] gt & diqd BR
[4] g&i H1 9=l B

FF (A) TIH BROT (R) & TUE

b Fel T GHT ¢

FI (A) : HT F oS (wiehe)
TH STIRTAT SHE B

SR (R) :9fd 999 & 97 gRafaq
& Bl

[1] AT9q R §F § T R, A FI'Gel
TEHT Bl

[2] A @ R 99 & LR, A &l
HEl TR T B

[3] A®El B fg R B
[4] Awaqg RN Tad &

Frefofed & & @9-8 S
PIRTHSAT Sl BB T W = g
S 8 ?

[1] SR HIwH
[2] afeehr

[3] anfef+ent

[4] =TT IR
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128.

=
N

130.

The earth's part responsible for

causing earthquakes is :
[1] crust of earth

[2] mantle of earth

[3] inner core of earth

[4] outer core of earth

Examine Assertion (A) and Reason
(R) and choose correct answer :

Assertion (A) :Species are static

units in classification.

Reason (R) : do

change with time.

Species not

[1] A and R are true and R is the
correct explaination of A.

[2] A and R are true but R is not
correct explaination of A.

[3] A is true but R is false.

[4] A and R are false.

Which of the following living cells

have perforations on their cell

walls ?

[1] Bast cells
[2] Vessels
[3] Tracheids
[4] Sieve cells



Uk gRest & H, 9 & Th Bl
IO 81 UF U § @ W I
W@2cmﬁ%§ﬂ%l{%’ﬁ
3@ W 5 cm Bl Bl AR A H TR
P AGERF 1.5 5, @ o B IR

P AR g Bl ey
[1] % em  [2] Tem
[3] 7.5cm [4] 10.5 cm

Fed A & 0 e § 9

PIT-0 BT Tl 78T ©§ °

a. ARG FEA AN g @
garT® B ol

b. AHN FEA AREHH WS
7 2 g

c. FEA M@ B RN & TH
ABYOl § §Bd TaA & Bd
2l

d. A9, UHiies o<t qu THiEN
FEe A ol

[1] (a) G (d)

[2] (c) Tam (d)

[3] (a) T (b)

[4] (b) 7T (d)
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[A]

131. A transparent cube contains a small

air bubble. Its apparent distance is 2
cm when seen through one face and
5 cm when seen through other face.
If the refractive index of the material
of the cube is 1.5, the real length of

the edge of cube must be :

[1] — cm [2] 7 cm

[3] 7.5 cm [4] 10.5 cm

132. . Which of the following statements

are incorrect for carbon compounds ?

a. Most carbon compounds are

good conductor of electricity.

b. Most carbon compounds have

ionic bonds.

c. Force of attraction between
molecules of carbon compounds

is not very strong.

d. Methanol, acetic acid and

acetone are carbon compounds.
[1] (a) and (d)
[2] (c) and (d)
[3] (a) and (b)
[4] (b) and (d)



[A]

133.

134. =1 o

AT HI G

[1] SUAFNT WX YT Foll & GUSI
%?ﬁ'qzﬁ SU[achdl had(dl %I

[2] frelt off aia= & SAfreRaq St
GIEY Jdeh X T BNl B

[3] TG (3Hifteen) = offeq &N
fear T em

[4] wF @O & R 7y ¥ FEE
O[St 1 T B 8, 39w
T SeEhdl HEd o

q BiF-a1 YA 787 © ?

[1] ®3U (T=) — FIH Fab
[2] fereeeit AT — emifess IRET

[3] @@ Ut — A
[4] SIAFF — T e
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133.

134.

Select wrong statement :

[1] The storage of energy at
consumer level is known as

secondary productivity.

[2] In any ecosystem maximum
energy is stored at producer

level.

[3] Ecosystem term was coined by

Odum.

[4]

Rate at which organic molecules
are formed in an autotroph is

called gross primary productivity.
Which one of the following is
wrongly matched ?
[1] Tendon — Connective tissue
[2] Smooth muscles — Involuntary
muscle
[3] Red muscles — Myoglobin

[4] Troponin — Fibrous protein



SRS H QXA RS Ahegah

AT @

(i) S G & 98

(i) ReR U &1

(iii) Xearefpae &

(iv) Tfor ergur 1

@& faweq &

[1] (D), (ii1) T (iv)

[2] (i), (iii) T&T (iv)

[3] (D), (i) T (iv)

[4] (1), (i) AT (iii)

. BR % REgd duEed diew TS
U% & &9 § Frefoied § § -4

g1 SUReT B & 7

[1] Tt
[2] &

[3] @ifew
[4] 5%
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[A]

135. Dalton's atomic theory successfully

explained :

(1) Law of conservation of mass

(i1) Law of constant proportion

(iii) Law of radioactivity

(iv) Law of 'multiple proportion

Correct option is :

[1] (1), (1i1) and (1v)

[2] (i), iii) and (iv)

[3] (1), (i1) and (iv)

[4] (1), (11) and (ii1)

. Which of the following metals is

present in the anode mud during

electrolytic refining of copper ?
[1] Aluminium

[2] Gold

[3] Sodium

[4] Zinc



137. f=fafeg & @ S9-9 wE9

[

[

T % fog Sugw 787 © ?
[1] g [2] &=
RIS (4] &UH

afpT Her g der W e
H-91 I IS 78 & ?

[1] BEgeH [2] SifedeH
[3] Sfea™ [4] e
frafafag & 9 aF-a1 9 @

GG R (D R E A
g?

g

ot

el

137. Which of the following crop is not

suitable for loamy soil ?
[1] Wheat [2] Paddy

[3] Pulses [4] Cotton

The element which is not common
between the compounds called

bakingsodaand soda ash is ?
[1]"Hydrogen  [2] Oxygen
[3] Sodium [4] Carbon
Which of the following equation does

not represent a simple harmonic

motion ?

[1] y=a sin ot + bCos ot [1] y=asin ot + b cos ot

[2] y= ae™ 2] y= ae™
[3] y=>b cos ot [3] y=>bcos ot

[4] y=b tan ot [4] y=btan ot

140. 771 # § 59 W@ % w99 o 140. Which of the Planet has the largest

SPrE § ? number of satellites ?
[1] geid [2] 5T [1] Jupiter [2] Mars
[3] g4 [4] a0 [3] Mercury  [4] Saturn

Level-2/811



141, QR § W @ IR W RN

50 Nm & g, 38 5 &S H
200 WFH gART B BT @A

(e Aus’) F &
[1] 4 2] 8
[3] 12 [4] 16

T g, S gl REE e
Jgad T B ¥ J A B e B
Y T&d ©

[1] <F&A

2] withe (Ta®)

[3] e (FRoT)

[4] &&=

WY F IR B T g T
IReEstt e (A’ — 0), 99 S
% Wad & o 3@ S o2, T

e &1 71 R AT R
[1] e [2] Tl
[3] @ (d%e)  [4] d
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[A]

141. A torque of 50 Nm acting on a wheel

at rest rotate it through 200 radians in
5 seconds. The angular acceleration

(in rad/sec?) will be :

[1] 4 (2] 8
[3] 12 [4] 16
Microscopic  aquatic ~ organisms
lacking locomotory ability and

drifting with water currents are :
[1] Pleuston

[2] Plankton

[3] Necton

[4] Saston

A very thin transparent film of soap
bubble (thickness — 0) is seen under
reflection of white light. Then the

colour of the film appear to be :

[1] Blue [2] Black

[3] White [4] Yellow

P.T.O.
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144. ffafed & @ =-ar Nl A 144. Which of the following property

IARAT 78 H & 7 does not describe a compound ?

[1] Qi TR & &N 3’@[, 3'{:@ STagat [1] It cannot be separated into its
| 6 el AT ST Hebell zl constituents by physical means.

[2] T8 & aT A® dl d B [2] It is composed of two or more
g9 BT R elements.

[3] I&® T & et B [3] Itis a pure substance.

[4] 38 ZME & fedl o SRS g [4] It is/mixed in any proportion by
|r‘\'|§'1|°b'\ ST ST YehdT %I mass.

145. {EENS o X T Y 99 H 145. Two chemical substances X and Y
G BT IS P a9 & R X combine together to form a product
q Y &S P which contains both X and Y :

X+Y—>P X+Y—>P

A TS SAhatetl & &N X X and Y cannot be broken down into
TN Y B WA TERG H TR e simpler substances by simple
ghar 31 X, Y q&O P q chemical reactions. Which of the
? following statements concerning X,
Y and P are correct ?

(i) Pus Afes 2 (i) Pisacompound

(i) X qY A 2 (i1) X and Y are compounds
(i) X JaY T 8 (iii) X and Y are elements

(iv) P & e daes & 2 (iv) P has a fixed composition
7el o © Correct option is :

[1] (i), (i) AT (iii) [1] (i), (ii) and (iii)

[2] (@), (i) T& (iv) [2] (@, (i) and (iv)

[3] (ii), (iii) AT (iv) [3] (ii), (iii) and (iv)

[4] (i), (iii) AT (iv) [4] (i), (iii) and (iv)

Level-2/811
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[
]

it & @S-8 Jeaen & &l
wEA T&T © °

[1] Heeett
[2] =T
3] =X
[4] wwat

frfofag & @ S9-di wRiRefqar s
% T P T & 7

[1] @9 ¥ gfs, QHFT dq@r 61 AT
[2] =1 &a%d ¥ g, a9 9 gfs
[3] T2 &%a § gfs, a H &

[4] W &=%a | &4l 3EH A

148. TOHT ¥l & O Hioieh Higd H ¢

[1] ¥ Wd AgdF Taq S
Bl Bl

[2] A WA STAfRE Bk ol
[3] BERfafs faer s & S

AT e T 2

[4] NN 9 WA T &
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[A]

146. Which of the following is not chiefly

[
[

a Rabi crop ?
[1] Groundnut
[2] Gram

[3] Pea

[4] Mustard

The evaporation of water increases

under ‘the following conditions :

[1] Increase in temperature, addition

of common salt

[2] Increase in surface area, rise in

temperature

[3] Increase in  surface area,
decrease in temperature

[4] Decrease in surface area,

decrease in pressure

In fluid mosaic model of plasma

membrane :

[1] Upper layer is non-polar and
hydrophilic.

[2] Polar layer is hydrophobic.

[3] Phospholipids form a bilayer that
provides fluidity.

[4] Proteins form a middle layer.

P.T.O.
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149. =R & & SH-91/8 THH ST 149. Which of the following process/
frif @ear/&@ & ? processes release heat ?
(i) gg= (i) Condensation
(i) g (ii) Vaporisation
(iii) fev (iii) Freezing
(iv) T (iv) Melting
7e faea © Correctoption is :

[1] e (i) [1]"Only (i)
[2] @ad (iv) [2] Only (iv)
[3] (ii) T (iii) [3] (ii) and (iii)
[4] (i) T (i) [4] (i) and (iii)

150. f=ifafag & @ frae 9 qaifds 150. Which of the following would weigh

BT 7 the highest ?

[1] ﬂiﬁ'ﬂ % 0.2 M (C,H,,0;,) [1] 0.2 mole of sucrose (C,,H,,0,;)
[2] CaCO; % 2.0 5 [2] 2.0 moles of CaCO;,

[3] CO, & 2.0 A [3] 2.0 moles of CO,

[4] H,O0 & 10 A [4] 10 moles of H,O

Level-2/811
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6. Answers

to questions in answer sheet are to be
given by darkening complete circle using Black ball
point pen as shown below :

© @ ® ®

The answer will be treated wrong, if it is marked, as given

below :
0 ® & @

If you fill more than one circle it will be treated as a
wrong answer.

10.

11.

12.

13.

14.

15.

16.

11.
18.

19.

20.

. 9l I 390 OMR I TF T & ik H T IT AFYI

. 6 FE -G § 39 WM & [T & T @i e W 8 #X (Rough work should be done only in the space

provided in the Question Booklet for the same.)

SR | I To@ o W o1 (ThE TYS) BTN
s &1 (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener
(white fluid) is not allowed for changing answers.)

. T% 99 & 0 RU U =R fowed § § S fagcg & T OMR ST % W #ad 06 99 & & T TE & a9 @Re 0

¥ T TP IR IX Sifhd B B 9% 39 Sea Tel o Gl ol (Out of the four alternatives for each question, only one
circle for the most appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer
Sheet. The answer once marked is not allowed to be changed.)

orepelt giafe #X 6 59 I T B AT T MW T I W FHE AF NN F_FMC, el ST TS X T A
i wm & sfaRed o= 71 foEh (The candidates should ensure that the Answer Sheet is not folded. Do not make
any stray mark on the Answer Sheet. Do not write your Roll No. anywhereelse except in the specified space in the
Answer Sheet.)

- T4 I T B ANGEF T B, Fis B A Rk § (I97-gRam o R % § FHE § e @ Rafy
& W) {H’ﬁ g W e Iuee T WI% Wﬁl (Handle the Question Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Question /Booklet and Answer Sheet Serial No.), another set of
Question Booklet will not be provided.)

HQ‘I—W/W =% ¥ R T wEie B Tl 9 ade A ewe) 9 § g (The candidates should write the correct
Number as given in the Question Booklet/Answer Sheet in the Signature Chart.)

afl # oen S/ § TR W iR TeuN gd ofoRe Rl ser @ argg-are, gd o swiad s & afr,
JoR, MeEA B, gosli-es SUBT A Rl of J & &/l %l & S a1 IWN HA @ A 7@l 81 (Candidates are
not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic device or
any other material except the Admit Card and Identity Card inside the examination hall/room.)

e B U8 9N W uE ot STl Jas i (A o) iR wgAM U R@M| (Each candidate must show on demand
his/her Admit Card (Roll No.) and identity card to the Invigilator.)

FE e AT THAEE B A OTAN S [T Pl TRl YT WM 7 B! (No candidate, without special permission of

the Superintendent or Invigilator, should leave his/her seat.)

PR JHAEE B AT IR T [0 [ T sWER G W ASRT sERR Ry faer erwd) wlen g T8 seh Ak e
el 7 gAY 9R SWER 9 W SWRR e R a1 ¥ A e f 3ER I i e e’ & R T HET &
A AT STCT OMR SR O & Feiia @M W ol ol e o ey & oS & e e S 21 S &
MM 10 999 59 99 W SF @ ] % @ @@ Aer § & 0 A el @Rt B AR T o 959 ot o 9 7 &
¥gd P4l (The candidates should not leave the Examination Hall without handing over their Answer Sheet to the
Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the Signature Chart
second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case. All
candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified which
should be properly inked i.e. they should not be either over inked or dried in nature.)

s%aa’rﬁzs/waﬁa et B SYART afstd %I (Use of Electronic/Manual Calculator is prohibited.)

TR 2 F TR & U, TRl feRlE & & T ukk/Ren-fRw 7 98 & o e @ e @ Ry ee W@ sgRa
et & wf T & daa S » e wd e @ R (The candidates are governed by
Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their
conduct in the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.)

fepelt e HQ:T-S]:FIEH IR T =% Eﬁg AN T I B (No part of the Question Booklet and Answer Sheet shall
be detached under any circumstances.)

TUE qO BN W, TRl F/2 Bled § [ S T H-THAEE B oA A A1 AR A0 6y 39 9e-gRAH B A

S e R (On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator in the
Room/Hall. The candidates are allowed to take away this Question Booklet with them.)
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